Pedestal Distribution (average fADC count between 8 - 80 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)

3
x10 | | hampSubO
— Entries 248630
B Mean 53.39
L Std Dev 26.94
B Underflow 0
L Overflow 0
— x? [ ndf 1149/12
B Prob 6.271e-19
— Constant 1.55e+04 + 5.06e+01
B Mean 45.79 + 0.10
| Sigma 25.51+0.15
: — sum64 -
—— dynode
B quadl
B —— quad2
— guad3
L —— quad4
L quadsum
L FANN [ R R R R L [ N N N R
0 500 1000 1500 2000

Amplitude [fADC]




/7000

6000

5000

4000

3000

2000

1000

o

Integral Distribution (with pedestal subtraction)
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Amplitude (pedestal subtracted)
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Integral (pedestal subtracted)
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